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— BHXIE, AXE 27D 20,000,000 20,000,000 &
— BRI NKE 25|, JIEHZ D 21,000,000 21,000,000
OR=I=E=FeS
—ostz|Z2 03 QX 24 30,000,000 30,000,000 2
— AJIRE X 24 5,000,000 5,000,000 &
— INEA 222 140,000,000 140,000,000 2
— JIEFA Al 223 2,500,000 2,500,000 &
— S ES HREIIAIAE 6,000,000 6,000,000 &




= 202131 | 202131 S = 7 ron
2XIEZ Ol ALH | 1XIET Ol AboH Soss AE2H 29

o g = (A) (8) G
— 2t M3 2t 4,700,000 4,700,000 &
— SIS ZEEAS 2 5,000,000 5,000,000 &
—oiF U A DA 2RHERH 2,000,000 2,000,000 &
— DAKHREFS| 2] 500,000 500,000 &

oQE AL

— 2R A L 25 13,000,000 13,000,000 &
— TAEH HHE 15,000,000 15,000,000 &
— MEOHHXIZ2 M=A 10,000,000 10,000,000 &
©® Al-HQIEH DA Ol H|
— 2 AI2E 92 48,000,000 48,000,000 &
— 2 AIZLAE] 5,000,000 5,000,000 &
— 2 AEQAEEZX 3,000,000 3,000,000 &
— HAIQA Q2 33,000,000 33,000,000 2
— FHAIZAHE 5,000,000 5,000,000 &
— A=A E X 3,000,000 3,000,000 &
— QA2 8,000,000 8,000,000 &
— HY=QAEE X 2,000,000 2,000,000 &
— JIEFQI M HI 14,000,000 14,000,000 &
® K22
— X232 2,500,000 2,500,000 &
® AQEH|
— 2 AIABE 10,000,000 10,000,000 &
— HAIADE 10,000,000 10,000,000 &
— HQAQE 3,000,000 3,000,000 &
— JIEFAQE 1,000,000 1,000,000 &
®z2z2e2
— 2BQ2 1,000,000 1,000,000 2
— EAIR2 3,500,000 3,500,000 &
— ANIEAIR ZZ Q2 27,000,000 27,000,000
® Al
— 2 AIAIHI 2 2HA! 45,000,000 45,000,000 &
— HAIAIHI & 2HAI 20,000,000 20,000,000
— BQIAIH| 2 2HA 1,000,000 1,000,000 &
— JIEFAIH] 5,200,000 5,200,000 &
® QISR DA AN
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ot = 202131 HAE | 20213 HOE = A toH
PRIZEY OlAM [1X1=Y ofl At AB) AEDH 2o
ol S .
2t st = (A) (8)
— 2 A2 22 5,000,000 5,000,000 &
— HAIDD 22 5,000,000 5,000,000 2
— B2 22 3,000,000 3,000,000 &
—H® 83|, 8125 S 0iHI10H&*5,000,000 50,000,000 ¥
® =xz
— =%2 300,000 300,000 &
® ANEAIRE
— QIBIAE |2 AIZAFR 2 30,000,000 30,000,000 &
@ BEIUSH
— 29HIZ, E#2 S 5,000,000 5,000,000 2
® THere QAIZEH X2
— 2 AlLBAl QA 45+800,0002 + =} UStE e 5,200,000 &
B 778,400,000
4400 DEIHI 2 3,883 2,002 1,881
410 KIS0l &t 1 1 -
4411 1 1 -
XIZ20I X © MIXY2 01X X2E
—D=2E 1,0009 1,000 &
8 1,000
4420 J|EI DS QAHI2 3,882 2,001 1,881
4421 3,882 2,001 1,881
SRS © B2EX 1,000 1,000 &
&:AE'
— JIEF &4 2,000,000 2,000,000 &
O EHO“S‘SEDL%JHUE*% (HetelH S =23 E1-2-
—20203|H 1T =1 M2 B L 0| K} 1,041,00 1,041,000 &
W MOIEA NS SHE|H C3-1-1 BAXA DI
—0I2tHH| AYDS 224M 82 840,000 840,000 &
B 3,882,000 &
4500 ME2 - - -
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JEIE NN =

0
HL

ol
ol
4
e

7 = 202131 AT | 202131 HAS =paton
ORIEY OIAM | 1XEFY ol At oy ME2 2o
o g = (A) (8) el
4510 M523 - - -
4515 - - -
SEIHNEZ
BH: - 9
4516 - - -
n[EESEF=
BH: - 9
] 148,035 162,985 14,950
4610 Ol 6l b 148,035 162,985 14,950
4611 148,035 162,985 14,950
IR CHatHIS= 23100 ol zel tiblbl : 30,1 30,000,000 &
CHEHRIHISS 232 oiHlb 22 ol 1 10,000,000 &
NeBMISASE3H olyibi22l oyl 10,000,000 2
HsteieiS s oI =2l ol ¢ 82,4 82,887,000 &
WA oI RIS S| OlHIYI 2l oY 10,000,000 &
= J|SALSE S olBIgI22] ol8l8l 2 10,00 10,000,000 &
S MOEMDIASHS N olulHIZ2l olulY 9,475,000 2
ISt S =23 olbibI =2l oiblBl 1%t 3 30,000,000 &
Hetggs=s ) tetugouibizel oy ~52,887,000 2
SUFIISSLEH olbIbIZ 2l oibIBl 1%t 18,668,000 &
oA o1 I S S| | ol 2el olblbl 1X 2,726,000 2
=3 IS AS 3| olbIBIZ2l oYYl 1 53 2,116,000 &
&t S =231 olbIHI =2l oibI8l 2%t 15,000,000 &
CHEtRIHI S S 2317 oldibl 22l ol 2% 50,000 2
BHA: 148,035,000 &
QPIIEFRFAIXI 17,459,578 | 19,715,198 | 2,255,620
1220 EX XA 263,000 250,000 13,000
1221 - - -
EXNRINISAHH
1224 - - -
S DIIYERKE
BH: - 9
1229 263,000 250,000 13,000
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ot = 202131 AT | 202131 HAS = 7 ron
ORIEY OIAM | 1XEFY ol At oy ME2H 39
o g = (A) (8) el
— YA YHESS =2 200,000,000 200,000,000 &
@ WAMSP SHEE N MEBOALYSEXR JIE
— WA M AG I8 Z2 30,000,000 30,000,000 &
—OLNEFR AlY ATHE S 20,000,000 20,000,000 &
W) B AP S5 A3-1-5 DB AN ST D
—HIEHA PIEriH AIE S 10,000,000 10,000,000 &
—2ME)| LM YUEBSS 3,000,0008 3,000,000 &
BH: 263,000,000 %
1240 JIEFXHAXI = 1,346,000 1,346,000
1242 - -
SIPVSEF=INE
BI: &l
1243 Z N
e=SPlIs I EPNE
B: |
1249 1,346,000 1,346,000
JIEFRH A RI & & E2H HBHS=238H E3-2-1 DAASMET
DY SANM RES R 2 1,346,000,0008 | 1,346,000,000 &
82:  1,346,000,000 &
1250 A2 2 =JI2 X2 - -
1252 _ -
AgeEcalaNy
BH: &l
1253 - -
AZREASI|IZHY
B: 2
1254 Z -
AZRERSI|IZ
BH: 2

1255
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ot = 202131 AT | 202131 HAS = 7 ron
ORIEY OIAM | 1XEFY ol At oy ME2 2o
o g = (A) (8) el
AZRESISHIIZHEY
BH: - 9
1260 o= X g 15,850,578 | 18,119,198 | 12,268,620
1262 265,900 265,900 -
lojpin)| 2N OPIEET
—0I Xt 79,900,0008! 79,900,000 &
—HZHOINE S 18,600,00008! 186,000,000 2
BI: 265,900,000 %
1263 2,314,486 3,314,486 | 1,000,000
oAE) |2 HY ® YoAEI |2 HY
—OI X} 454,100,000 454,100,000 &
—HZHOINE DY 124,990,0008! 124,990,000 2
—SE233|7 A2 Itar2t| 2,735,396,0002 2,735,396,000 2
W HEH HEHS=23H JI2nel(HIS=2) 29
—S=23|H A2 I+& 2l -1,000,000,0008 ~1,000,000,000 &
8:  2,314,486,000 #
1264 222,630 222,630 -
oo|xs)|2NY ® YolFs|z =y
—A&B IS 01Xt 2,040,0008! 2,040,000 2
— S ZYOINI B 590,000 590,000 &
® YoIFaI|Z XE 220,000,000 (I15 4,01 Xt 220,000,000 &
BH: 222,630,000 &
1265 - - -
Qlo gl X )| B XY
BH: - 9
1266 13,047,562 | 14,316,182 | 1,268,620
YojsSx=H)|ZHY ® YOISHSH)|SHY HeRZHEIIZ
—0I Xt 16,000,0008! 16,000,000 &
—HZHOIHE S 4,880,000 4,880,000 &
® YOISH2I|IZHY (&t RZXIHE 365,004,000 365,004,000 &
® YOISHSH)|ZHY NI DeteE
—0I Xt 243,200,0008! 243,200,000 &
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o = 202131 HAE | 20213 HS S = roron
- — 2XIZA Ol At | 1XIEZ Ofl Ao el A= 2o
o g = (A) (B)
—S2EOINE =¥ 62,390,000 62,390,000 &
_e el h2 514 9% 11.000.000,000%! 11,000,000,000 &
—HISE235|H YASEHSHI|2 NKQIT}EE N] 2,562,403,000 &
@ W2H HEHIES23H JI222(HIES2) 22
—HISE235|H UYYEFSEI|Z DK T4EE ] 62,305,000 ¥
m T2 A EH%JHI% 231 JI222(HIE=2) 22
—=%712 0/ N2 HE 60,000 60,000 &
W (Hol9 R 2E S@a|H A3 -1 BEII20DE ~28,000,000 &
SR HEHIS=235H JI222(HISE2) 2o
—HIEE23H YASHSHI|Z DKOITIEE —1 ~1,240,680,000 &
8:|  13,047,562,000 2
1300 D& KA K= 3,375,823 3,402,244 ~46,421
1310 QEDH AL X = 3,375,823 3,422,244 A46,421
1311 600,001 1 600,000
EX Y © 2= 1,000 1,000 &
mESH HEHISE23H SSARAUN2(HISS
—SHHHS 1023-1 EX S = Al 600,000,000 600,000,000 2
B 600,001,000 &
1312 1 1 -
HA=204ey| © 2= 1,000 1,000 &
B 1,000 &
1313 1 1 -
DE20 Y ©® B2=7 1,000 1,000 &
B 1,000 &
1314 2,691,720 3,407,241 A715,521
JIH IR OH I ® IEHIS 223 et AX A A ASI| R 150,000,000 &
® IEHIS 223 et A A A ASI| R 6,000,000 &
® EHIS 223 et AR A A ASI|R 14,300,000 &
® EHIS 2235 et AR A A ASI|R 183,230,000 ¥
® HEHHIS2235) AN ALY DS REA 15,000,000 &
® HEIHIS223| ) (I8HE AKX A ABA SR 700,000,000 &
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o = 20213121 | 20213 H S = roron
DX oAt | 1XI= of AtoH Sos AHED Z o
o & = (A) (B) G
© HEHIS=E23H e EANIANY IS8 1,379,711,000 &
@ AHEEFDl— X‘lo _\_LEJEH ELI /(kDHEElX|%
— MIED| 3TH#1,000,0002 3,000,000 &
— WA 1004%400,000L 4,000,000 &
— KA1 K| 40CH*100,0008 4,000,000 &
® SIS AZRC BHHIS= 23/ DS REZ )
—BIGI0IE DB S EDIP| A AE DE U DT ¢ 948,000,000 &
W IS S AERC (EHISE25|H A ASTI T ~150,000,000 &
W IS S AERCH (ISHHIS =25 H A ASTI I 204,000,000 &
W CHBHSl Al ERICH (BHHI S2 25| Al A S| X ~24,590,000 ¥
W CHBHS A EXICH (B SS 25| H DS 282 ) ~15,000,000 ¥
W CHBHE A EXICH (SIS S 25| A A S| XHH 15,000,000 &
W XOfSHM KIS ME CHEHH S =23] 2 B4-3-2 =0
—EORBHA RIS AUXAANY 2R I N Y 12,780,000 &
W CHBHS A EXICH (B SS 25| H DS 28 -680,711,000 &
W IS S AERC (EHISE25|H A ASTI T ~127,000,000 &
W IS S AERCH (ISHHIS =25 H A8 ASTI I 50,000,000 ¥
B 2,691,720,000 ¥
1315 56,100 15,000 41,100
Z0IHI =0l © DI2H 2G| Al
2 Ef 1,000,0009 1 CH 1,000,000 &
® JIH 213 04 10,000,000 10,000,000 &
@ /\OH§|»3|- I—lo HE]EH ol AH§|»I|-?|;_I
— MBI O X 507H*80,000% 4,000,000
W IS S AERC (ESHSE25H DS 22 29,000,000 ¥
m IS S AERC (EHSE25H DS 22 12,100,000 &
= 56,100,000 &
1316 28,000 - 28,000
TSRy W B EI|2E S5 AS-1-1 LXNI|2228

—Xt&+ g 28,000,000

28,000,000 &

28,000,000
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o = 2021519 E [ 202131H QS —
DRI CIAHOH [ 1XI=T Ofl AFH Sosm =i
o g = (A) (8) el
1317 - - -
T AR
BHI: - =
1318 - - -
BEeARSRY
BHI: - =
1319 - - -
HEIIHE
BHI: - 2
2200 DX ST A S 220,001 220,001 =
2210 ZJIXI 2 AL S 1 1 -
2021 1 1 -
ORI 2 A s
1,000 &
BHI: 1,000 &
2220 J|EF D H S AL & 220,000 220,000 B
2021 220,000 220,000 -
e =282 b 200,000,000 200,000,000
FHOI A S LS EXH 2
t%a G+2t 20.000,0009 20,000,000 &
BHI: 220,000,000
2229 - - -
JIEFDE SO
BH: - 2
= X = & A 64,643,976 64,527,696 116,280
IS SINERNEN - - -
1100 DI LS = KFAF - - -
1110 - - -
SEx2
BHI: - =
1120 - - -
JIEFS S XA
8HI: - <
2100 1L RS2 - - =
[2120 - - -
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